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otherwise O.M.R. sheet will not be subjected for evaluation.

ROV - ARBINY F3R SRJOW S5 WITH LOGRNBY FVDIOLT.

M -5397



1) The proofsfor the spherical shape of the earth is—
(A) Bedford Experiment
(B) Sunrisesand sets at different timesin different places of the earth.
(C) Satdliteimages
(D) All theabove
PRI RREFDEBODYIRTY, ATBIFIBOTT—
(A) Segrweeas Iedeen
(B) %00 230093 QN N%fmf@ RRSREFTOD Tone AROITE DI
TN 23ed aﬁezﬂoﬁmﬂdo@m
(C) YWINBAYOT SR IOOSTIVLIZAD
(D) IS HQP

2) Which of thefollowing isan Equinox?
(A) Equa day and night throughout the world
(B) Theduration of night is more than the day time
(C) Equal day and night in India
(D) Thelength of the day is more than the night
83 FYNIPNYY IR DRB/ZOTHOSOTINTOZT?
(A) STORTRTOZ BRPT BREI-TOEN
(B) N9 «mHN0Z To80RH BTHOIN LETFEONTOTY)TH
(C) $PTBIY A BRLI-ToNsdy HINWD
(D) ool 9=ON0B QEFTFHONTE BNOT 9T

3) |If thereis a difference of 2 hours and 32 minutes between two places, the
longitudinal difference between thesetwo placesis-

(A) 40

(B) 3%

(C) 45

(D) 58

QT *‘%371%3 JITE 2 Nod 32 eNJIND wmm‘bdé 8 ATVBR ~e;m§
EVN fadm Bea003NG 903TR)

(A) 40

(B) 3%

(C) 45

(D) 58

M-5397 [2]



4)

5)

6)

7)

Gutenberg discontinuity separates—

(A) Outer core and Pyrosphere

(B) Crust and Pyrosphere

(C) Inner core and Outer core

(D) None of the above

BTN JTPBOONY) 8 IINT TTINTI, TFESRORYT—
(A) TRTSHLLD I, WIReeY

(B) Howm =02 w3rieey

(C) 288Th ) JRT ST

(D) S0edTP) clomxce Y

Folds are formed due to

(A) Compressional forces (B) Tensional forces
(C) Volcanoes (D) Agentsof Gradation
DRIND B3 FYNT TTLHOT TWBTOMIT

(A) ToBWZ B3N (B) A¥=8/0xT= 33N
(S IR=PISSERE LY (D) Snesteos s3Fmsd

Cirque is formed due to work of

(A) River (B) Wwind

(C) Seawaves (D) Glacier
SBWRMOTH) 33 FINT FZF T TWONFOOT TBTOMORT
(A) 3B (B) =5oTo3nsd
(C) BTT 9SnsHd (D) &30

The process of transfer of heat from one substance to another without any
mediumis—

(A) Convection (B) Conduction
(C) Radiation (D) Compression

2,000 FBANVOT FEROTR BANN 0IPRTIC FOTFERYT To TROTTMT
Ljevelovovy

(A) Tp@Eos (B) zozm=s

(C) &33Teo (D) modweewss

(P.T.0)
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8)

9)

10)

11)

The speed of the wind is measured by an instrument called —

(A) Thermometer (B) Windvane

(©) Anemometer (D) Fathomometer
BRTVINY BB, PIORLD WIRWT YVTTTE0TT -

(A) wwgzemRTT (B) ==I Hwwes
(C) T=ZBen =oT3 (D) smIBpecneest®

The mountain ranges submerged under ocean water is -

(A) SubmarineRidge (B) Submarine Canyon
(C) Continental Shelf (D) Continental Slope
TONTT AeOTY BNONTWOIPNTOET 33T LD WHe0 NOBEESRTD_
(A) =wpo3neE3 NoJeed (B) =ep03nse3 300
(C) DowomTer T[T (D) DomomTED QP

Canary current flows aong —

(A) East coast of USA (B) West coast of Africa
(C) West coast of Australia (D) East Coast of Brazil
IO DY I} TPST SeTLRNTY BOCRIZYI

(A) ©edTd FOOINE ﬁom@ﬁm’ TRIJE ITOTY

(B) wmn ©dI Fooww

© @geéomw B 3eT

(D) BBers emE 300R9

The measures of Central tendency is

(A) ArithmeticMean (B) Median

(C©) Mode (D) All of above
30RO TR [RTIT P[0TI

(A) ned3 ZoEO (B) =7, &S

(C) =%z (D) &8 20T QP
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12)

13)

14)

15)

The methods of Dispersion are -

(A) QuartileDeviation (B) MeanDeviation
(C) Standard Deviation (D) All of the above
NBOTON ATOINSOTT—

(A) B3TET BO (B) 30030 QB0
(C) =Tz QWS (D) 35 0edT QP
Physical Geography deal with

(A) Earth processand function

(B) Earthand Human function

(C) Earthand Settlement function

(D) Oceanography and Climatology

T0ZOT mmwmg@ 88 IYTOTHNYY @méﬁqmgcﬁ
(A) B TFoD DI FONF

(B) $r-=02) TR sodE

(C) Br DB, BFE TODF

(D) mﬁd%i 0B TOOINTOER mi

Super continent of the earth was called as

(A) Tetrahedron (B) Angawaraland
(C) Gondwanaland land (D) Pangea
PRWOD WTT NDOBBIY, 03B BIOIOT FTODRMOHT

(A) etRzmmes (B) ©onmo8 3o
(C) RRoB=T PR (D) 00230

Tetrahedron Hypothesis was put forth by

(A) Dutton (B) Wegner

(C) Hutton (D) Lowthiean Green
LERTET ORBONT), 03I NOWATBIR

(A) =T (B) SInzo®

(©) =uz (D) Sweegoda® Nes®

(PT.0)
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16)

17)

18)

19)

20)

Tetrahedron consist of how many triangle

(A) 8 (B) 5

€ 3 (D) 4

BRTTT T SBRINTIRIRR0RT

(A) 8 (B) 5

©) 3 (D) 4

Marble belongsto

(A) Sedimentary (B) Igneous

(C) Metamorphic (D) Granite

WP S0 XPBV SLRTONEY, A0

(A) =TT 83 (B) w©n, 8¢

(C) Ceze033 &3 (D) moge

Contraction and expansion of rocks due to temperature is a form of

(A) Chemica Westhering (B) Biological Westhering
(C) Physical Weathering (D) Freezthawing
YUITPOSNOT YVOERTIT LHNT B BMHDICW0T  GVOERMIT  TIODN
2.PTEIT.

(A) TOmRODNAT BHODCBITD (B) 083 85DesTo

(C) ¥z 86IesTe0 (D) Te30RE

Low pressure cell over sea and surrounded by high pressure leads to
(A) Anti Cyclone's (B) Cyclone

(C) Convectional currents (D) Front's
BRNTEQ 3R WBR TLIETT, WOT LIR TL3eTey AATONTT GVOLRMDE
TBOR-

(A) Szosss =PI (B) =398 Twomned
(C) ==3F [T (D) smoe,

High temperature with high amount of rainfall isthe characteristics of

(A) Equatorial region (B) Mediterraneanregion
(C) Monsoon region (D) Savannaregion
B, YOTPOT TONR Ted), YOI CINT TTWEST THEOOTEITONG.
(A) A@Jée&@e% e (B) d)@@%ebodm@ T3e3
(C) =3I TBe3 (D) ==en =oe3
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21) Waves in the sea are produced due to
(A) Gravitational force of the Earth
(B) Gravitational force of the Moon
(C) Gravitational force of the Sun
(D) Wind force
RENT, WSNY 03T 3OWOT YOI
(A) BR-MTdTYBRF 0 3FOWOT
(B) 0Ts mdbToEmE e SFOWOT
(C) RRoHFS MTTYIXF D 3FOWOT
(D) SmEny 33000

22) If thesalinity of seawater isgreater
(A) Higher will bethetemperature
(B) Higher will bethedensity
(C) Higher will bethe color of the water
(D) All of theabove
TNOTY OTF0TY BPNFT
(A) ovFROTY HBesHNTOIT
(B) ¢S ey TN
(C) mpoTE NI
(D) 2=, evneond

23) They cold currents that comes from the polar region towards Japan coast is
called as
(A) Oyashiocurrent (B) Cold Labrador current
(C) Kuroshio current (D) Manchurian current
HeZ BT B TCBHOT R FTOBYN WORB ToBT, 83 TYFOBS
3TO30E e
(A) t.o3dzpe Jwoxm (B) @ &3 Tsod
(C) B3RP IJmow (D) 200200007 Jwos

24) While locating the object in plain table surveying, the hair wire and the object
must beinastraight linein:
(A) Alidate (B) Plumb bob and plumb fork
(C) Compass (D) Spiritleve
Be' e’ [pewed WREWEON SRNTTY, waez‘sm@o BIRTD B0& I
ww €3 BealodhY) [T emw%dsawm ooeﬁocsa 3OO30E e
(A) 9OTeeTF
(B) Toer o @03 Four Feed,
(C) 3Bozom®
(D) »oeen Sexme*

(P.T.0)
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25)

26)

27)

Geographic north is the direction towards the fixed point we call the North
Pole.

(A) Itisdirection parallel to the direction of the winds.
(B) Itisthedirection exactly opposite to the rotational motion of the earth.
(C) Itisperpendicular to the direction of the sun’sangle of radiation.

(D) Itisadirectiontowardsafixed point whereall thelongitudesconverge at
one point.

BARREPT YVET FF DB YT PR DT %gpd ROTNEG TIPS 3¢3T
Jeasd
(A) TRV @@ﬁ RTITOZTZNDETI

(B) %R0 TR0 BOIN ébdoc%mﬁdagcﬁ
(C) RpoFs SeT sTcond DS VT
(D) 2% Beazoo3znsd Fedm WO

What isaKnoll

(A) Itisafeaturewhichislikearangeof hills
(B) Itissomethinglikeacliff

(C) itisalow isolated height or mound

(D) It resembles a peak

SRS 0TTEN?

(A) ™TAT FTLI0H ©TEONTT), BRCLOTT

(B) 3Rm0T POy, BRI
(C) ZPegennm 3R 2ITB Tpied
(D) TR, BeeedTH

The profile of acliff occurs when:

(A) Contour lines do not meet at the same point.

(B) anumber of contour lines meet at the same point

(C) Thereareirregular contour linesarranged at irregular distances
(D) All the contour lines disperse from one another

IRTOT QPWVOT Y T[T IR0 SROFYTD—

(A) FZDBRZ Telnsh .oTBRoW BRBOTRNR

(B) S0wmoth ARNRRe3 Teslneh 20te ROLHATY Aedwon

(C) ©CWNET BIIRLST TEBNT WACNWNT LOITTY wwNMO@daécS
(D) «g mRBRcE 6@9371%?0 2.0T008 &BROTH 2255 wwdaéd
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28) The Beaufort scale

29)

30)

(A) Itisascaleused to measure the height of the mountains

(B) itisameasurethat relatesto the wind speed at sea or on land
(C) itisascaewhichisused to measure the distance over the water
(D) itisameasurerelating to the atmospheric pressure

203 BT, BRTT—

(A) SIFINY DTTID, VIO WIFRT [IPTI

(B) Mmoo Henmmy, ©FoHLd YD [IPTI

(C) 2003 HeIT ©OITHD, WLOINET [RTT

(D) 0030 OBOT BB, WFOIND [T

A hygrometer isan instrument useful to

(A) Observethe presence of humidity in the atmosphere

(B) Recordtherainfall of aplace

(C) Measurethe presence of water intheriver

(D) Relate the atmospheric pressure of a place
BALLINCT ), BPPYTF WHRTOMDITI

(A) TOOINTWOBOT WTTODD, WYAD AP

(B) 2.0 THe3TY BT BR[IOT, STIROAYTH

(C) INCRY 0T TPo0eaTR, WFOIYT

(D) e.om x@%ﬁdg QT OO WOBO LI/, VYOIV

If theisobarsare placed far apart in auniform pattern then the pressure system of
that regionwill be

(A) Weather isnormal or stationary

(B) Weather will bevery rough

(C) Weather isexpected to freeze

(D) Temperaturewill increase abruptly

BRLPT TeBNW ARSI @OTTRY VTYeT TR BONY TOWOIPNTT 84
FENT OPT Bowsws wGN@ %océaaodaéd

(A) TTo=OTR) wmdsamﬂdaéd @cjm Ndmﬂcb:%d

(B) =onuinTy) wae ITOZH0T ara@dagcﬁ
(C) BooxTY Sezcomos Se3NOT 3RRIIT
(D) =woRp3IBY wvTpoTey WA DOFCIPMOITS

(PT.0)
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31)

32)

A climograph isadiagram representing

(A) Twoclimatic variablesrelative humidity and wet bulb temperature

(B) Threeclimatic variablestemperature, humidity and wind speed

(C) Oneclimatic variabletemperature

(D) Four climaticvariablestemperature, rainfall, wind speed and relative humidity

woodnnee sded (Climograph) ) 33 3$NT 3RE QRODBJI, TSI

28800NT3

(A) ORI DTE WOBNTOT ARTCT STFS I BTF 20TOT TOINTE

(B) oo30mdeots @0eTd WOSRYRE YVTROT, STFI [T MYed H[en

(C) =0030MRT 2,0T3¢ WO WOBTOT YOITPOI

(D) =ood0mdess Tow), WOSNYRE YOTYOS, Y, MOPD PBert =B AwTeT
STFE.

Over atopographic map if themain river hasalarge number of tributaries spread

in different directions like the branches of atree then such adrainage patternis

called:

(A) Trelispattern (B) Dendritic pattern

(C) Rectangular pattern (D) Radia pattern

B TZ IT (Topographic map) oY [0, IOR BOWD FOFOD

POTIONED TNL TN VT DBRYOT TN FHLONTOZ FeTT OFELVY

D) wsw:"éosmol NIOTD FBOINT

(A) €o=° wéwﬂ@ (B) @d@esz® wéazé
(C) Iz oo 5235% (D) Bedcher 555%
33) The toposheet with ascale of 1:63,360 isrelated to:
(A) Britishscae (B) Nautical scale
(C) Metricscae (D) Magnitudescale
1:63,360 =303 KB mw@% §§o:’>33 33 NS SN @:ﬂasa%é TOWOHATS
(A) Dgdezw Tsooed (B) Toudzer Iwmoee
(C) ez TR0 (D) S®NBRE B@mwed

34)

GI S uses the information from which of the following sources?

(A) Non-spatial information system

(B) Spatia information system

(C) Global information system

(D) All theabove

GISTY 85 IINT CPTV DVRONVOT [PERINTRY, WBCIRNJEAFLOMIT
(A) T eSO A TOIF CRT" ITT

(B) Redohef 9T sRRrFeRy AR

(C) MRewe” AT TR AT

(D) &0ed3 2P
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35) Which among the following can be expressed as an example of hardware

component.

(A) Keyboard (B) Arc GIS
(C) Auto CAD (D) Digitdization
83 ISNTRPNYY 0IPTH NEPFONOZT T F &CT S TONONT
(A) 3eldnewts (B) ww*e GIS
(C) etdee CAD (D) @ezudedma

36) Inthe process of GIS, digitalization is done for better output.
(A) True
(B) Fase
GIS, T3oHhohQ BRLSERT W, YIDETLT FOTOTTN WHHTOMDIT
(A) =o

(B) ==
37) Which of the following state has lowest population density in Indiais:
(A) Skkim (B) AndhraPradesh
(C©) Guaat (D) Assam
33 BYNT {PUBT CIE ToREY WI0T IR RIWOTT FOWWIIT
(A) &30 (B) =0y Iie3
(C) e (D) @m0
38) Which oneamong thefollowing is large scale ?
(A) 1:50,000 (B) 1:25,000
(C) 1:63,360 (D) 1:10,00,000
B3 IINT TRWENYY CBRYDD “BRT BRPeT”
(A) 1:50,000 (B) 1:25,000
(C) 1:63,360 (D) 1: 10,00,000

39) Which oneisaconventional projection?

(A) Polyconic (B) Sinusoidal
(C) Bonne's (D) None

33 FYNTIPYNYY TOOTHOWT TTHWEEX CIWYT0?

(A) TOERRQT (B) admooder
(C) T I8y Jgew (D) cnmxTe ©Q

(PT.0)
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40)

41)

42)

Which of the following sequence of map is correct in terms of scale?
(Larger to Small)

(A) Cadastral, Wall maps, Topographical maps

(B) Topographic, Wall maps, Atlas maps

(C) Topographic, Cadastral, Atlas maps

(D) Cadastral, Topographic, Wall maps.

BRIEOT TKOWOT B3 FINTYNYY 03P ATOZT Fo3BHT (Sequence)
(BRT TRPOOT IR TR TET)

(A) %cé@)@, need I3, BT Z 3

(B) %n T3 I8, AReE I3, VP I3

(C) r T3 I3, @w@@e T3, WA TFI

(D) écsmg@f PRT T, I RRE ITI

Slash and Bum Agricultureis
(A) ShiftingAgriculture

(B) IntensiveAgriculture
(C) Commercia Agriculture
(D) None of the above
T W) WRT Z
(A) 3 PRV, LTLOCR AT
(B) & g

(C) =oede, 3

(D) Foeds oIRPBR AY

Intensive Subsistence farming is practised in the areas of
(A) HighPopulation
(B) Low Population
(C) Deserts
(D) Dense Forest
TEEBNTY  SeTT BeTTIOPOT  LICAVONTR, WRBSOMITI
(A) DS wIHOD,
(B) 3R =370
(C) DTDLRIND
(D) Ttz @ity

M-5397 [12]



43) The maximum amount of energy in the present day world is provided by
(A) Atomic Energy
(B) Coadl
(C) Hydro- Electricity
(D) LiquidFuels
QOOS ®NETY NOT TSTEn JFODT, CTWHW TROVOT LBNINT
(A) ToZweR 3 (B) zoZe
(C) mo-2me D) = 2o33INed

44) Which of thefollowing isthe highest plateau in the world?

(A) Colorado plateau (B) Pamir plateau

(C) Patagoniaplateau (D) Potvar plateau

33 FINTPNTY CTRPYTD AIT €8 HTTT THRRN?

(A) 3odntodne DURATCINY (B) @TE DURATCINS
(C) =mirieedodm \)@mm (D) Hwwe gﬁ@mm

45) Which of the following isablock mountain?

(A) Andes (B) Alps
(C) Rockies (D) Vosges
88 FSNIPYNYY OSRRPD FOTF TIFS?

(A) sor=* B) w8
(C) oodex* (D) Jpex=

46) The factors responsible for population change is

(A) BirthRate (B) Death Rate
(C) Migration (D) All of the above
BIBOTY, WHCOIFN FOTEOT  BOTN

(A) =33 T30 (B) Qs Tooee
©) mox (D) DT e

(PT.0)
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47)

48)

49)

50)

Which river crosses the equator twice?

(A) Amazon (B) Congo
(C) Nile (D) Orinoco
BRIOLTRBRTY, N0 RO TORT IO CIWRYTN?

(A) RS (B) zoorwee
€ & (D) 2.030%m
The average life expectancy around the world is

(A) Decreasing (B) Increasing
(C) Not Changing (D) Stabilising
TFTOWDRTOZ ATIAO 23T

(A) BR0IPET (B) =3
(C) wowenéy (D) %{pdme?ma@m
The forest conservation act was enacted in the year

(A) 1986

(B) 1974

(C) 1980

(D) 1972

©Tee, BOTFTD TOOH OV, RRETY 2307 TR
(A) 1986

(B) 1974

(C) 1980

(D) 1972

Which of thefollowing isthe most environment-friendly agriculture practice?
(A) Usingchemical fertilizers

(B) Usinginsecticides

(C) Organicfarming

(D) None of the above

33 FYNTYYNYY 3P T, TWOAT Aedo T TG2?

(A) TRRRORIT ARYTINTR, IRV

(B) scesmo3anem), ¥R

(C) =o=oDT g

(D) F0edT BRYBR AY

x ¥ X
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ROUGH WORK
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10.
11.

12.

R PTRER B3Sned
£.20.5T°. @033 TYoD 3R 50 TINTR, BROODT IJRED IRBT T,
TORFED, DI QEBSONT.
BRYTB TF, TATH), ey TOFR S0k, IPRILOBIT DO FOWOHATE
ROLVTI, TOHEDRT.
w23 wé%oja mada‘n nlgtclovilelniiiciolovite) DB @)%wgéomozs 8.200.87°. QU0
m@oﬁaa‘n IBRINA :%ﬁcja 8.20.50°. WWZT TYONY TTRT, [IELIOPTY, 350850.
38R m%émoé D6y SRRBCDYT DT[TRTT, B0 ébaf‘mmcjd, amé Spcte
TOFOR m‘%@émws TRONTY  YVOWRME  TOTBNYR ﬁéojaiﬁmﬁ Qese
%L BTINTLEED.
TOeBODH AHODTY:
@  TEIOIROTD TIHODI, PNRZWOT L.OD.
b B& IBod IR QeRNT Dowy, v SoYNYY w308 FORH/ ARTFT
NZTIR, IGFOR.
C) %.00.850°. TIORYT TOWORAT TB,0N = TYTOTTY, FOTREDF N BVOWD.
NTPTTHN, Y, BEFoDY TY, FosS, 83 “C" BooIwT wwITNTT, ded /3T toe*
TOONOET T W L.D0.8T. YIT TOYOD T M0, 83 IN0T T8 FYNTOZ
30020:
T %088 B @ @ O (T =0F) (2 TOWOLT I [N YoTdRN)
emédzﬁ wawgwdéosa 2TBEIROD, (BB 307) T3, BSFONY wBNIT 2D PRTY
mzﬁe mcézﬁeﬁa (80.00.83T°. em:%d m@oﬁa@ Mdmdm)
200 ADFF JB 20TI0S ézﬁa mgmwm MO EFRNT T, BYOBT YVZTB/I),
3T DO wam@xmmgd még O3RPTE WOBIT, ARFLRNPRY. &.90.85T°.
TOPONDT YVTRIBTFH SRCR.
VPHE ) BRTR fme%md%ds QOF FBRAT %@GQ 20.200.83T°, ToPOD a0 Do
BIRTLIER.
ChaTaleny waeiofn J03BT BRTH dvee%mdsaﬁ R 8.00.85T°. QBT T¢I
&%&m@@oﬁad g\%odmal LoOTONT LR,
B HFOI T3, TFTRI, T 8.00.8T°. VR HFOD TSI, T, B3 SNTDIRO
TRENRLITOTR.
ST, BT DI FRY FRETY, TOCTY IRTROD ¥t WDTDSTRTDYHOL.
@waro:’m cﬁaa’%édeﬁ éracéﬁdaaj)m %océmodd WOTHZ WPHFODIY, BRCFEN
w@ﬁsé Uorb@@@ ) AONTNY TFoT WOITH e.-m@?ods ATWT Em %m@;mm@m
83 Tde3 BOToRY SBETORED 2., 50 @osm@ SC/ST/Cat I @83@?71%‘50 3F 8
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Note : English version of the instructions is printed on the front cover of this booklet.




